QU I1i/Paper 111(12/09/2022)
HTIT ‘A’/ Part ‘A” (Fe 3 85)

Total marks 85

Fad HIST F IW -

Answer only in English

-

1. o7 Usel 1 AT aeg ford- (1x5=5)
Choose the Synonym of following words
A. Abandon
(a)Leave (b)Slow
(c)Beautiful (d)Foul
B. Distinguish
(a)Darken (b)Differentiate
(c)Beautiful (d)Loose
C. Describe
(a)Tired (b)Slow
(c)Portray (d)Laborious
D. llliterate
(a)Differ (b)Vibrate
(c)Converge (d)Uneducated
E. Vague
(a)Ambiguous (b)Dim
(c)Empty (d)Full
2. 3o sel &1 Ao e ford- (1x5=5)
Choose the antonym of following words
A. Bravery
(a)High (b)Deep
(c)Cowardice (d)Hollow




B. Sorrow

(a)loy (b)Sympathy

(c)Woe (d)Empathy
C. Superior

(a)Inferior (b)Above

(c)High (d)Bold

D. Enormous

(a)Voluntary

(b)Compulsory

(c)Converge (d)Small
E. Abolish

(a)Repel (b)Reject

(c)Establish (d)Aspect

3. Rod Tue ¥8 ¥9Y FEF 3eqT g4 & ,-

Fill in the blanks by choosing the correct preposition

a) Renewable energy resources prevail __ wide geographical areas, in contrast to
other energy sources, which are concentrated in a limited number of countries.

(Over/Across/in)
b) The cat jumped __ the well. (with/into/at)
c) There was acar __ me. (before/over/at/on)
d) Heis__ the Kitchen. (in/at/on/since)

e) He goes to the office ___ his car. (into/from/by)

(1x5=5)

4. I9gFd seq H1 9g fifore o rafaf@d aedl/arerat & wure o 3ughr frar

STHES

Choose the suitable alternative which can be substituted for following

words/Sentences

(1x5=5)

other controlling systems

A. A state of disorder due to absence or non-recognition of authority or

(a)Anarchy

(b)Democratic

(c)Lawful

(d)Free




B. Fit to drink
(a)Potable (b)Palatable
(c)Soluble (d)Vegetable
C. VYearly celebration of a date or an event is called
(a)Birthday (b)Anniversary
(c)lubilee (d)Centenary
D. A small shelter for a dog
(a)Kennel (b)Runner
(c)Road (d)Astronaut
E. Agroup of stars
(a)Atheist (b)Reject
(c)Constellation (d)Altruist
ST ‘B” / Part “B”
3aX feer 3rar 3 # §
Answer either in English or Hindi
1. g8 Rweq got (2 x 10 = 20)

Choose the correct option
i) ARa # T AR &g arffd vt B Foa FEar?
Total number of States and Union Territories in India?
28,8
28,7
29,8
29,9

onwp

i) AR & Ty NI &1 A1H?

Name National Song of India?



o n = »

o0 ® »

vi)

vii)

o N ® p

Sl 99T Hel /Jan Gana Mana

AT I §¢ TET %’/Mera desh badh raha hai
éﬁ'm/\fande Mataram

W?Eﬁl’g ﬁﬂﬁ /None of the above

‘I fraer gfee & ?
“Ohm” is the unit of ?

ﬁajga gfaY /Resistance
FFEIS/Length

H/Weight

qray/Power

HRT & g Uo7 FeRar a7 g9y s &

Which state has the highest literacy rate?

Kerala/ el
Maharashtra/ #gIISC
Delhi/ f&eelr

Assam/ 38H

Y EeT Iged Fmfafea & @ e Ao & e S e g7
Commission of Railway Safety works under which of the following
Ministry?

e #FTET /Ministry of Railways

gIHTR HATT /Ministry of Telecommunications

AR @A HIrerT Ministry of Civil Aviation

T F#FY FATET /Prime Minister's Office

ARAT Wa & Faa I &2
How many zones are there in Indian Railways?
16
17
21
5

Wa &1 & TAAT IETRT I 87

Who is the present Chairman of Railway Board?



o [l = [~

viii)

o B W e

ix)

o W

X)

QO &P

Arunendra Kumar/ 3T&01% FAR
Ashwani Lohani/ 319801 AETAT

V K Yadav/ d & d1ed

Vinay Kumar Tripathi/ %MWW

SR Yo aT eIy el R 87
Where is the headquarters of North-Eastern railway is situated at?
Freeprar / Kolkata
TR@YR / Gorakhpur
oGS / Lucknow
YIRS / Prayagraj

Wﬁ%ﬁmﬁ%ﬁ@#%&ﬁﬂ@rﬂ%aﬁmﬁﬁ-a‘ﬂ(mﬁ%ﬁ)iﬁ

T ATH FT &7
What is the name of India’s first indigenously designed locomotive-less (engine less)

train?

Train 18/ 18

Train 20/ <1 20
Gatimaan/ J1Ta#HTT
Shatabdi/ 2raTedT

el Sree & R Ueg # wafad U Wi T 67

ugathakali” is a folk dance prevalent in which state of India?
Kerala/ &3ef

Maharashtra/ HaRTSC
Tamil Nadu/ JATATS
Karnataka/ #1246

& e 9ot (1 x 5 = 5)

Choose the correct option



i) Which device among following is used for sending digital data over

a phone line?
Bl 15 W BfSres 3er o & fore aesfof@a & | frg suaor
39T fRar Srarg?

a) use/guHdr

b) Scanner/ TR

c) Printer/ Oex

d) Modem/ ®SH

ii) The monitor of a computer is-

a) HSKUT HTY/storage device

b) rATHIT ETUA /processing device
c) %I9YC f3ar8d /input device

d) wm/output device

iii) Which of the following is not a hardware?

Aefaf@a A Y Fi9 v grEam AdT &2
a) Java/Srar
b) Mouse/ AT3H
c) Key Board/ # &5
d) Monitor/ AT

iv)  Which of the following is an example of a web browser?

iv) fefaf@a & & $i9 39 FFI FT 38807 872
a) Google Meet/ I@Tel Hie
b) Microsoft Teams/FTShIATFE ETH
Cc) Apple/Tcdel
d) Google Chrome/’]?ﬁl'm

V) e e Bren & Fi9 a1 Bies 378 HEdl 3R Best & v
IEATN FIARYT TeTe FaT § e 9 gerar aea &

Which folder provides temporary storage for the files and folders you want to
delete in Windows Operating System?

a) Recycle Bin/ {raTd&e foet



ii)

iii)

iv)

v)

vi)

b) Calculator/ Heisheiet
c) MS Paint/ TATH Y
d) MS Excel/ UHUH TFAF

3. Brafafag vt & g #EaT § ' §) -

Solve the following questions (Steps to be shown)
(20 Marks)

18.834+818.34-X=618.43 (2 Marks)
Solve for X.

18.834+818.34-X=618.43

X & faw ga =Y

(14)* —(7)* x 2
Solve this expression 7 x4 ? (2 Marks)
(14)* - (7)* x 2
3-‘q- '{-IT(TEI o g 7 X4 I

Wa‘?smgmanam sooxﬁﬂﬁégwﬁ4mﬂzﬁwmalagw
afa & gz @ B m/sTHITE? (2 Marks)

A running man crosses a bridge of length 500 meters in 4 minutes. At what
speed he is running? Answer in m/s?

0.25 3T FHA FATE? (2 Marks)
Square ront of 0.25 is?

wF T 10 e & farw 20 Refvder & afy & amr w81 & fEeEr g
g A 87 {2 Marks)
A car travels at speed of 20 km/hr for 10 minutes. How much distance

does the car cover during its run?

T g A UF aE] W T 2500 ¥ ¥ AR aF T FT Heg 2000 &, A
a7 wfaerd wired F¥ | (5
Marks)



vii)

ii)

i)

iv)

A shopkeeper sold an article for Rs. 2500. If the cost price of the article is 2000, find the

profit percent?

5 HEATHT 3T 1T 300 . 377 | Ugell ol HEITHT &1 A\ 60 & YT 33 o et

FwF 0 ¢ I TEmTFT

Sum of 5 numbers equals 300. If average of first two numbers is 60 and average of last 2

numbers is 40, then what is the value of 3™ number?

. Fer ey gt

Choose the correct option

s & AR ameer # fag -
Write the missing item -

AG:1O :: EK : 77

A. LR

B. MS

C. PV

D. SY

Which number should come next?
HTY HleT Y T A TIfRT?
46,44,40,38,34,

A 32

B. 36
c. 38
D. 40

I. Pooja is older than Mukesh.

Il. Suresh is older than Pooja.

IIl. Mukesh is older than Suresh.

If 1 and Il are true, the third Statement is?
A. True

B. False

C. Can't be determined

g IR g d v s T
A FE

B. g
c. fAufa =g Far s asar

RQP, ONM, _, IHG, FED,

(5 Marks)

(2 x 10 = 20)



Fill in the blanks.
Pt 2Tt 813
CDE

LKI

LKJ

BAC

Oo0w>»

V) Which number should come next?
Y et A HEAT AT AR
4,7,12,19, 28, _

vi) Arrange the following words in a meaningful sequence and choose the correct option.
frafaf@a eecl 31 3t wa & caafPua & ¥ 3 I+
1. Marriage
2. Birth
3. Death
4. Education
5.Job

1,2,4,5,3
2,4,5,3,1
2,4,5,1,3
4,51,2,3

oo w®p

vii) Which word does not belong to others?
Pl AT 2req; GERT A U 61 67
A. Steering wheel
B. Engine
C. Tyre
D. Car

viii)  Choose the Correct Option

wer fashed ot
PETAL: FLOWER

A. Pen: Paper
B. Engine: Car
C. Cat: Dog



X)

D. Ball: Game

If in a certain language, NOIDA is coded as OPJEB, how is DELHI coded in that language?
afe v fAfRaa am9r &, NOIDA &t OPJEB & &9 & i3 fham rar &, oY 39 #rwT

# DELHI &Y &3 #13 forar sireen?

CDKGH
EFML

FGNJK
IHLED

ON ®

IfE m:n=3:2 & a9 (4m+5n):(4m-5n) W E
If m:n=3:2 then (4m+5n):(4m-5n) is equal to
A. 49

B. 914

C. 111

D. 9:1

*%3



